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Meaning of Vedic Management :
(A) Languages

(B) Marketing

(C) Both (A) and (B)

(D) None of the above

“Management is the development of
people and not the direction of things.”

This statement is of :
(A) L. Appley

(B) Louis Allen

(C) Terry

(D) None of the above

Which one of the following is not the part

of management process ?
(A) Control

(B) Planning

(C) Organization

(D) Marketing

Management is needed at :
(A) Lower level

(B) Middle level

(C) Top level

(D) Alllevels
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5.

TN BAd & IR YeH UlAr @
EIDIECACAL IS

A) 2

(B) 4

C) 6

(D) 8

fr=rforad # 9 BIF-91 AT FFTd 2 ?

(A) ¥ e ¥ e T8 2

(B) WG|

(C) V& |dHifE T |

(D) Suga H A Bl el

“Ue SEY ATl W B U SRl
7| I8 B B :

(A) Th. S, TR Pl

(B) TIN% Udl. ¥l @

(C) YT TAT WITHHT Bl

(D) SWad # | BIS T
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According to Henry Fayol the primary

functions of management process are :

(A) 2

(B) 4

(C) 6

(D) 8

Which of the following statements is

inconsistent ?

(A) Management is not different from

ownership.

(B) Organisation.

(C) Management is universal

(D) None of the above

“Management get things done through the

people.” This statement is of :

(A) F.W. Taylor

(B) Joseph L. Massie

(C) Peterson and Plowman

(D) None of the above

Set-A
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11.

Te T

(A) el

(B) fasma

(C) THI (A) 3R (B)
(D) W # ¥ PR T

“UgRT BT MR FURE W R |7 AR e
g

(A TE R @

(B) 3R . a9 @

(©) T (A) 3R (B)

(D) SWE & W B &l

BRI B9M & AR Yawl &l JFaEROM
g
(A) 4
(B) 6
©) 8

(D) 9
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&7 2|
NEREL
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(A)
(B)
(©)
(D)
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10.

11.

Management is :
(A) AnArt
(B) Science

(©)

(D) None of the above

Both (A) and (B)

“Management means decision-making.”
This statement is of :

(A) Ross Moore

(B) R.C. Davis

(©)

(D) None of the above

Both (A) and (B)

According to Theo Haimann the concepts

of management are .
(A) 4
(B) 6
(C) 8

(D) 9

Production management is a/an

functional area of management.

(A) Most important
(B) Ordinary

(©)
(D) None of the above

Unnecessary

Set-A



12. THCO & AR YaIdhN AN & - 12.  According to Mintzberg managerial roles

are :
(A) 2 (A) 2
B) 3 ®) 3
(C) 4 (C) 4
(D) 5 (D) 5
13. U BT FHINTD SN & 13.  Social responsibility of management is :
(A) $II IR & U (A) Only towards government
(B) Hdd SUMIET & ufd (B) Only towards consumer
(C) @ad 9N & T (C) Only towards society
(D) SWFd 4l & ufd (D) Towards all of the above
14, 99 RGN & Y99 FH T - 14.  The main function of liason is :
(A) 3ATIIID (A) Unnecessary
(B) ®HATNAl B RYfa BT (B) Appointment of employees
(C) d= AT q qHH HY] (C) Contact outside public
(D) Suga H A Bl el (D) None of the above
15. TN BId gN yfqufed WA @ 15. Principles of administration enunciated
Rrer & - by Henry Fayol are :
(A) 4 (A) 4
(B) 6 (B) 6
) 10 (C) 10
(D) 14 D) 14

C010201T (6) Set-A



16. “fdi wew fog @ W faew dem 16.

=T B BT T 217 I B ©

(A) BIOIS T4 U I
(B) TH. S&cg, BT B
(C) oW Sl Wew @
(D) SWa ¥ ¥ FIg el

17. SdeT Y+ Bl P 8 17.

(A) IdET faoH
(B) e =0T
(C) W fa=ms

(D) SHIE W

18. “f9U &I a%f a1 A1 b AT I~ 18,

B DY BeAT el fldl 2|7 IS HU T

(A) . T, sifeliT @1
(B) fafer™ o1 ved &r
(C) ¥ UG R BT

(D) SWad # | BIS T

C010201T (7)

“Financial management is the application
of the planning and control function to

the finance functions.” This statement is

of :

(A) Howard and Upton
(B) M. W.Cumming
(C) Thomas G. Spates

(D) None of the above

Function of production management is :

(A) Production planning
(B) Production control
(C) Plant layout

(D) All of the above

“Advertising can be described as the art
of creating a demand for article of a

service.” This statement is of :

(A) C. L. Bolling
(B) William J. Stanton
(C) Bethel and Smith

(D) None of the above

Set-A
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20.

21.

22.

Sfafiy vevr &1 o 7

(A) I &7 I BRI

(B) VIHDI B AN g
(C) Gl (A) 3R (B)
(D) SWw # ¥ P T
eI BATA BT T gafT o -
(A) R A

(B) ¥Rd H

(C) Wi H

(D) SR H

“Th. T, CoR B IS “Ied Jaw

(A)
(B)
(©)
(D)

AP Y B T o

1911
1903
1904

1906

(A) ThwTe
(B) 3fd®
(C) TN BIA

(D) TP. 3=, ok
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19.

20.

21.

22.

Function of personnel management is :
(A)
(B)
(©)
(D)

Payment of dividends
Advantage to management
Both (A) and (B)

None of the above

Henry Fayol was born in :

(A) America
(B)
(©)

(D)

India

France

Germany

“Principles of Scientific Management” a

book written by F. W. Taylor was
published in the year ............

(A)
(B)
(©)
(D)

1911
1903
1904

1906

Father of Scientific Management was :

(A) Kimball

(B) Urwick
(C) Henry Fayol

(D) F.W. Taylor

Set-A



23.

24,

25.

26.

CEIGEIR IR
z|

(A) Hifsd

(B) IR-Alfe®

(C) <Ml (A) R (B)
(D) SWE ¥ | FIg el

TS Al BT SR &
(A) TUH

(B) 3MRa®T

(©) sifecferam

(D) WA
FIBRATG] gD T & ?
(A) THOTRE it
(B) Mg fasi gfteemo
(C) waz gfemm
(D) SUgad JHI

[T BIaT @ :
(A) BT
(B) DI
(C)  AHUDBTAN
(D) I erafRl & forw
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23.

24,

25.

26.

There is provision of ...........

under scientific management.

(A) Monetary
(B) Non-monetary
(C) Both (A) and (B)

(D) None of the above

incentives

The birthplace of Elton Mayo is :

(A) Japan
(B) America
(C) Australia

(D) India

What is behavioural approach ?

(A) Sociology approach
(B) Anthropology approach
(C) Psychology approach

(D) All of the above

Planning is :

(A) Long-term
(B) Middle-term
(C) Short-term

(D) For all terms

Set-A



27. “fFRNH 90y @ Uded & folt g9 27. “A plan is a trap to capture the future.”

T R &7 T B & This statement is of :
(A) Tl @I (A) Hurley

(B) Teld @l (B) Allen

© N BT (C) Terry

(D) SUYa H H IS el (D) None of the above

28. ‘U9M® UYg’ g YW IR UANT fhar  28. The term ‘Scientific Management® was

T first used in :
(A) 1876 | (A) 1876
(B) 1903 H (B) 1903
(C) 1915 ¥ (C) 1915
(D) 1918 H (D) 1918
29. YITIMG UdE Bl Y B 29. The function of  administrative
management is :
(A) s (A) Planning
(B) il &1 fuiRer & (B) Setting the policies
(C) F & YAl BT e &= (C) Setting the standards of work
(D) SUYa H A Bl 7l (D) None of the above

C010201T (10) Set-A



30.

31.

32.

33.

C010201T

Sifel 3R, S & AR IS & JaR
g

(A) 4

(B) 6

C) 8

(D) 10

B R P e e pt
B

(A) WS

(B) Uapial

(C) fshar

(D) dPfeTad

(A) TEHeTT

(B) figr

(C) =M (A) 3R (B)
(D) Suga H A Bl el

“U YEEd B S Faq [0 ol Bl
fepar 817 ¥E B & :

(A) BT

(B) 3IR. TH. TR &
(C) s @

(D) SUYa H A Bl 7l

(11)

30.

31.

32.

33.

According to George R. Terry, the types
of planning are :

(A) 4

(B) 6

(C) 8

(D) 10

Policy decisions are generally ..............
decisions.

(A) Group

(B) Individual

(C) Process

(D) Alternatives

Brainstorming is a decision .........

(A) Technique
(B) Principle
(C) Both (A)and (B)

(D) None of the above

“The life of a manager is a perpetual
choice making activity.” This statement
is of :

(A) Terry

(B) R.S.Davar

(C) Drucker

(D) None of the above

Set-A



34.

35.

36.

37.

C010201T

fafre faofy faferdt € : 34.

(A) S
(B) 3IIdTd

(C) =M (A) 3R (B)
(D) ST & ¥ PIE Tl

“ofg faf=T Aol & 920 T 817 I8 35.

HF T

(A) UIeR Uh. $IR Pl
(B) T U. ATSHT @I

(C) IR T, SR B
(D) STda # & Big AL

AT HRAT & |
(A) fawc
B) figri
(C) ufshaman
(D) SWad # | BIg T2

“SLTAl ENT U oW uRum 2|7 g8 37

FH T

(A) TR B
(B) Teld @l
(C) SR DI

(D) X @1

(12)

Specialised decision methods are :
(A) Ordinary

(B) Unnecessary

(C) Both (A) and (B)

(D) None of the above

“Decision is the selection among different

alternatives.” This statement is of :

(A) Peter F. Drucker
(B) Herbert A. Simon
(C) R.S.Davar

(D) None of the above

Selection of one out of two or more

............... is decision-making.

(A) Alternatives
(B) Principles
(C) Processes

(D) None of the above
“Management by Objectives is the final

result.” This statement is of :

(A) Drucker
(B) Allen
(C) Davar

(D) Terry

Set-A



38.

39.

40.

C010201T

“Iared W RN HREET ygldl @l

HEIAdl § bed Al Bl FAGI gRI Alfod
PR H HUFIRT B W T |7 T B
g

(A) T RAYT TG 3= B

(B) X @I

(C) Teld @1

(D) SR &1

“FeRdl N Yo B R W A gRI
Ye Bl dehrill ] B W |7 Ig Gerd
fear & -

(A) 3R TH. SR
(B) T &. ol

(C) T TH. deA

(D) A

Ferford FRITeH 2T @
(A) TrHBTAA

(B) HIBICIF

(C) 3BTl

(D) SUIH H ¥ Plg el

(13)

38.

39.

40.

“The transformation of raw materials by
factory method into thing wanted by

society.” This statement is Of :

(A) Bethel Smith and Others
(B) Terry
(C) Allen

(D) Davar

“Management by action technique should
be applied instead of management by
objectives.” This suggestion has been
given by :

(A) R.S.Davar

(B) N.K. Sethi

(C) A. M. Brown

(D) Terry

Corporate planning is :

(A) Long-term

(B) Middle-term

(C) Short-term

(D) None of the above

Set-A



41.

42.

43.

C010201T

SUHH H GG P WIUAT Bl 2

(A) Teadd yaY
(B) ¥EIH Uy
(C) 7 ya=r
(D) ¥HAIIh HAUSA

SHERISED

RIGRIDET

“ITeld AT

fwreT @1 el & qA I8l qd b S
T PR qCll €17 Y B 8

(A) 5T B

(B) Tefd @1

(C) X @

(D) RIX DI

e U & I O d1§ ?

(A)  favmfieor
(B) famwiaur
(C) iU = Bl AT

(D) SHIE W

(14)

41.

42.

43.

In an enterprise  organization s

established by :

(A) Top management

(B) Middle management

(C) Lower management

(D) Board of Directors

“Wrong organisational structure prevents

business performance upto the extent that

it.” This statement is of :

(A) Brech

(B) Allen

(C) Terry

(D) Drucker

What are the key elements of

organization process ?

(A) Departmentation

(B) Decentralisation

(C) Self formal relation

(D) All of the above

Set-A



44, TSI FT e ? 44. What is an organisation ?

(A) 9F] (A) Product
(B) NI /ATl (B) Goods

(C) GHI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H H Bl el (D) None of the above

45 T=faRad & 9 D9-97 98N S T 45.  Which among the following is not a type
of communication network ?

U6 GIR Tal g ?
(A T (A) Circle
(B) NEdEg (B) Chain
(C) o yare! (C) Free flow
o) Bonf (D) Triangular
46. FITGT BT AT 2 46. Classification of organisation is :
(A) JATRS FTeq (A) Formal organisation
(B) 3FITIR® e (B) Informal organisation
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) Suga H A Bl el (D) None of the above
47. TSI ST B AU T & ? 47. What are the characteristics of an ideal
organization ?
(A) ST B W (A) Realisation of objectives
(B) =01 @1 Sfud & (B) Reasonable span of control
(C) faRmamRu (C) Specialisation
(D) Sugad FI (D) All of the above

C010201T (15) Set-A



48. ST BT SE R § ? 48. What is the purpose of the organization ?

(A) T DT W § T BRAT (A) Assist in achieving goals
(B) fduvH (B) Marketing
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) Suga H H Bl el (D) None of the above
49. TIHHY IRBR $T Rigrd @ 2 ? 49. What is the principle of managerial
authority ?
(A) JiTaRe R Rigr (A) Formal Authority Theory
(B) &waT Rigr (B) Competence Theory
(©) T (A) 3R (B) (C) Both (A)and (B)
(D) SWE ¥ | TS el (D) None of the above
50. ARG b UPR R § ? 50. What are the types of responsibility ?
(A) ¥ SIREIRE (A) Continuous Responsibility
(B) fiy StReRE (B) Specific Responsibility
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYd H § I el (D) None of the above
51. PR & YPR B & : 51.  Types of authority are :
(A) 3 (A) 3
B) 5 B) 5
€ 7 € 7
(D) 9 (D) 9

C010201T (16) Set-A



52. TR fbdT S Aapdl 2 52.

(A) STREIRIE B
(B) 3MBR
(C) amgSE! @
(D) SWa &l

53, SIFAURYT BT T 3far fafeRit & 53.

(A) IR gRT IR
(B) EMINICT gIRT SAATROT
(C) T g SRR

(D) Suda Wl

54. T U il AR o 54,

(A) Rd B
(B) 3R®T &
(C) WU+ &

(D) SWa ¥ ¥ I3 T

55.  3IMdaH AT B & : 56.

(A) @I |6 |

(B) HHTANI e

(C) @HI (A) 3R (B)
(D) SUYa H A Bl 7l

C010201T (17)

Delegation can be done of :
(A) Responsibility

(B) Authority

(C) Accountability

(D) All of the above

Methods of key or tools of motivation is :
(A) Motivation by change

(B) Motivation by participation

(C) Motivation by challenge

(D) All of the above

A. H. Maslow was the resident of :
(A) India

(B) America

(C) Japan

(D) None of the above

Maximum discipline exist in :

(A) Line organisation

(B) Staff organisation

(C) Both (A) and (B)

(D) None of the above

Set-A



56.

S57.

58.

59.

RS ST R & ?
(A) AfdTTd

(B) HHANI

(C) T

(D) SWH # | B &l

AR BT QY

(A) BT B H gig
(B) TRV &I 314G

(C) <F& Frf H gfg
(D) SHIF T
fre=TRoT & EToT JaTgy
(A) Refa

(B) ¥HEd # fRm@e
(C) =

(D) Suga H A Bl el
ST Ja B BRI-AR H G G ©
Earicagl
EEa-E

TFT (A) 3R (B)
Swad # ¥ Plg T

(A)
(B)
(©)
(D)

C010201T

(18)

56.

57.

58.

What is informal organisation ?

(A) Personal
(B) Staff
Line

(©)

(D) None of the above

Disadvantage of centralisation is :
(A) Increase in paper work
(B) Lack of Incentive
Increase in routine works

(©)

(D) All of the above

Point out the features of decentralisation :
(A) Position

(B) Fall in morale

(C) Control

(D) None of the above

Work load to top management reduces :

(A) Centralisation

(B) Decentralisation
(C) Both (A)and (B)

None of the above

(D)

Set-A



60. WRTIYT foa ST &
(A) ARBIRTT BT
(B) 3FeRel I
(C) =M (A) 3R (B)
(D) SWH # | B &l

61. fomfiewor & &Rl & :
(A) oF B Fara
(B) I B g&Ia]
(C) T B gara
(D) SWH & W B &
62. fauriiexor IUge @ :
(A) T3 @ B forg
(8) @ e % forg
(C) HER Sa & forg
(D) SWa ¥ ¥ IS Tl

63. fAMFNERUT & HHAIRIT W Y99 Tedl

g

(A) HICA H g
(B) Hfi® U=

(C) g Sarm

(D) SWad # | BIS T

C010201T

(19)

Delegation is made to :
(A) Officers

(B) Subordinates

(C) Both (A) and (B)

(D) None of the above

From departmentation is :

(A) Wastage of money
(B) Wastage of time
(C) Wastage of resources

(D) None of the above

Departmentation is suitable for :

(A) Large Industries

(B) Small Industries

(C) Cottage Industries

(D) None of the above

The effect of departmentation on workers
is :

(A) Increase in inefficiency

(B) Moral decay

(C) Small industries

(D) None of the above

Set-A



64. faurfieoNT & YoRl & H © 64. Name the types of departmentation :

(A) RIS [IHRITHROT (A) Departmentation by Numbers
(B) UTEHIIER fawmitenxor (B) Departmentation by Customers
(C) THITTAR famfIaom (C) Departmentation by Time
(D) Sugad FHI (D) All of the above
65. MR $T W oM & 65. The main advantage of departmentation
is
(A) ITI H TR (A) Aid in co-ordination
(B) Fg=m (B) Control
(C) SdIg (C) Products
(D) SUYw H H I el (D) None of the above
66. PRHD [QURITHROT = TR SEIRT 66. Departmentation by function is based
3 o] [ :
(A) TaRmC@Ro (A) Specialization
(B) fawqgd (B) Wide
(C) ®ial (C) Narrow
(D) Suga H A Bl el (D) None of the above
67. UTGHIHAD hls g9 & fory fohamant ar 67. Grouping of activities to form an
Wf:ﬂ'cWUT .................... e organisational unit is known as .............
(A)  fawriiaRor (A) Departmentation
(B) 3f=NUl (B) Delegation
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

C010201T (20) Set-A



68. BEMER  fodmfiaxor  IESHHER

69.

70.

fqrfeRoT @1 g |
g

(A) ¥f®

(B) o

©) -

(D) STda # & Big AL

fShaTcAd e & ST=erdr € ¢

(A) TR
(B) T
() A
(D) HIA

GIGTHD AXTl & Uy @

(A) 3

(B) 5

) 7

(D) 8

C010201T

RICER

(21)

68.

69.

70.

Departmentation by function is ...
popular than  departmentation

customer.

(A) More

(B) Less

(C) New

(D) None of the above

The founder of functional organization

is :

(A) Taylor
(B) Appley
(C) Terry

(D) Fayol

The forms of organizational structure

are .

(A) 3

(B) 5

€ 7

(D) 8

Set-A



71.

72.

73.

C010201T

WG ST G @ WU T |

(A) YT

(B) YD
(C) =M (A) 3R (B)

(D) SW& H W PIg T

i @ B & |

(A) WA

(B) FRIBRI

(C)

(D) YrdIMdH

‘Rl B U-YGE Ul Wder
YeHSd R 8 (G el 817 U8
HI T

(A) Tl @

(B) @UCH TG 3AUSHA Bl

(C) @

(D) I B

(22)

71.

72.

73.

Line organisation is the ................ form

organization.

(A) Oldest
(B) Modern
(C) Both (A) and (B)

(D) None of the above

Generally the  committees  under

committee organisation are of ..........

nature.

(A) Advisory
(B) Functional
(C) Line

(D) Oldest

“Direction is the executive function of
guiding and observing subordinates.”

This statement is of :

(A) Appley

(B) Koontz and O’Donnell

(C) Terry

(D) Fayol

Set-A



74, OIS 6T 3R &
(A) A
(B) @I
() favfae
(D) SR H ¥ PIg TE

75. AN 7§ ?
(A) TE TH TGS UHAT £ |
(B) UT Udh |l UlshaT 2 |
(C) %% & fganila ufshar g
(D) ST W

76. YT UlhdT & Hed /dcd B §

(A) 3
(B) 5
) 7

(D) 9

77. GREEA & A9 UEPR B ©

(A) 2
(B) 4
C) 5

(D) 8

C010201T
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Base of planning is :
(A) Forecasting

(B) Selection

(C) Decision-making

(D) None of the above

What is Communication ?

(A) Itis a managerial process.
(B) Itisa continuous process.
(C) Itisatwo-way process.
(D) All of the above

The steps/elements of communication

process are :
A) 3
B) 5
< 7

(D) 9

The minimum parties to communication

are .

(A) 2

(B) 4

C) 5

(D) 8

Set-A



78. Ug% H YW G<9[dIeq Pl HE & 78. Importance of effective communication

in management is :

(A) EER B GeAaRed BRI (A) Organised business procedure

(B) TYATH T WY RIS ST (B) Maximum production at the lowest
cost

(C) ¥Iqa fshaT &1 MR (C) Basic for Leadership Action

(D) Sugad F4l (D) All of the above

79. “T=<9qreq < a1 < 9 e afddal o 79. “Communication is an exchange of facts,
N e g a4 ideas, opinions or emotions by two or

more persons.” This statement is Of :
@1 fAfg 217 T8 B & :

(A) < T AR @ (A) Newman and Sumner
(B) o8 U Vel @I (B) Louis A. Allen

© qa (©) Tery

(D) Suga H A Bl Tl (D) None of the above

80. WYY FRIYOT T ‘Wigs’ Ui fwr ¥ 80. PRIDE  model  of  effective

communication is given by :

(A) TS O W, | (A) Floyd James J.

(B) THHM TG qEHM A (B) Vardhaman and Vardhaman
(C) fopfo #Fie (C) Philip Morgan

(D) SUYa H A Bl 7l (D) None of the above
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81. TVl RINY & RIgdl | 9 Uh Rigra 81. First principle of effective

=1 communication is ............... .
(A) FDRIHD (A) Positive
(B) Ol (B) Clarity
(C) TDRIHD (C) Negativity
(D) SUgad JHI (D) All of the above

82. Ufad ?b‘%?ﬂs?ﬁ """"""""""" q gHfRd 2 82. Sematic problems are related to .......... :

(A) 3RUE I < (A) Badly expressed massage
(B) WIS Ha (B) Emotional massage
(C) Tl yIa (C) Hello effect
(D) SUYa H § I el (D) None of the above
83. 3T T-n?emTﬁf e O ORI B | 83. Unqualified assumptions are related
t0 i .
(A) HIfd® 3R (A) Physical barriers
(B) fdTT 3FaRTel (B) Personal barriers
(C) 3 3R (C) Other barriers
(D) SUYa H A Bl 7l (D) None of the above
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84. ‘UlISTHS FH TR © 84. ‘Reputory relation’ is related to :

(A)  TTSHIED AR | (A) Organisational barriers

(B) fITa SRl (B) Personal barriers

(C) HIfi® 3R | (C) Physical barriers

(D) SWE ¥ | TS el (D) None of the above
85. TURTTT Ye=I | 9T Y § 7 85. What is meant by management of

change ?

(A) favagHrmar (A) Credibility

(B) W (B) Context

(C) wgeedn (C) Content

(D) SUYa H § I Tl (D) None of the above
86. URadH &1 foRier @i foar S @ 2 86. Why is change resisted ?

(A) U (A) Management

(B) I (B) Product

(C) aHI (A) 3R (B) (C) Both (A) and (B)

(D) SUYa H A Bl 7l (D) None of the above

C010201T (26) Set-A



87. UREdH $T YIR T :
(A) ST IarERe § gRacH
(B) STl # URdc
() Afdafa aRadH

(D) Suda Wl

88. UgHHIg 0T fhar & ®

(A) UfRe®
(B) Udw
(C) fauvH

(D) SWa ¥ ¥ I3 T

89_ ﬁ_qa_u_l_ ....................... Wﬂwm%l

(B) IS
(C) URo®

(D) SUYa H A Bl 7l

C010201T
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87.

88.

89.

Type of change is :

(A) Change in external environment

(B) Change in objectives

(C) Personnel changes

(D) All of the above

Managerial control is done :

(A) Optional

(B) Management

(C) Marketing

(D) None of the above

Control is a/an ............. managerial

function.

(A) Compulsory

(B) Necessary

(C) Optional

(D) None of the above

Set-A



00. =7 ufehar @ da @ 90. Control process elements are :

(A) 4 (A 4
(B) 6 (B) 6
(C) 8 (C) 8
(D) 10 (D) 10
91. ‘Mg’ g vt SR Bl 91. The word ‘control’ signifies the
Waraw 21 e approach.
(A) YFDRIHD (A) Positive
(B) ThRIHD (B) Negative
(C) W@ (C) Line
(D) i (D) Modern
92. UIHDHY ApeOr R Hr 92. Managerial audit is a/an ........... system of
ol 3| control.
(A) D (A) Modern
(B) oIEid (B) Accounting
(C) dvIc (C) Budget
(D) SUYa H A Bl 7l (D) None of the above
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93. fzmr &k v g wU 9 93. Control and ... are  closely

et ¥ associated.

(A) fauuE (A) Marketing

(B) oG (B) Accounting

(C) Hq« (C) Money

(D) SWE ¥ | TS el (D) None of the above

94. “3MUNTT WcdRd o dY NUfed SN 94. “Motivation is a process of stimulus and

T R %\r " T8 T % _ response.” This statement is Of :
(A) TfoR¥ U9 TelveR &l (A) Julius and Schlender

(B) TRIA IEA B (B) Carroll Shartle

(C) @ (C) Terry

(D) Suga H A Bl el (D) None of the above

95. g ol fefRad § @ dM-W @ 95, Which of the following is not a leadership

37 style ?

(A) APIRS (A) Motivational

(B) Wide (B) Supervisory

(C) UdEDhIT Yrewred (C) Managerial support
(D) SUYa H A Bl 7l (D) None of the above
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96.

97.

98.

C010201T

A B Il o D T W W W)
SR Bl &, P §

(A) SEAHTES el

(B) T g el

(©) freage et

(D) SWE ¥ W B &l

7 e 7 URERE Sel & o de
& foly IWIEE TN &d 2|7 T
BT T -

(A) SIS 3R, S &1

(B) Vel @l

(©) T (A) 3R (B)

(D) Suga H A Bl 7Tl

“T1 U6 GYE BT Hew B § oM U
fRed ug Uy foar o © oiR 98w
Ug & %Y AIER YSRId HRaT 21”7 g

HI T

(A) TfeaT Mee o1
(B) ¥ AT Vel B

(C) Teld @1

(D) SWad # | BIS T

(30)

96.

97.

98.

The leadership style which is based on

consultation with his group is called :

(A) Democratic style
(B) Paternalistic style
(C) Autocratic style

(D) None of the above

“Leadership is defined as the activity of
influencing people to strive willingly for

mutual objectives.” This statement is of :

(A) George R. Terry
(B) Allen
(C) Both (A) and (B)

(D) None of the above

“Leader is member of a group who is
given a certain status and exhibits
behaviour appropriate to the position he

occupies.” This statement is Of :

(A) Alvin Gouldner
(B) Mooney and Rayleigh
(C) Allen

(D) None of the above

Set-A



99. fomd o AR I Gl 99. There are .............. leadership styles as

SRR A ¥ per Likert.
(A) 4 (A) 4
(B) 6 (B) 6
€ 8 (C) 8
(D) 10 (D) 10
100. forde &1 ya=r yomfordr @ 100. Likert’s management systems are :
(A) 8 (A) 8
(B) 4 (B) 4
€ 2 C) 2
(D) 6 (D) 6

C010201T (31) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wemdt & 89 aRi fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, T7 Tl H 3T MRaR fodm M1, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & 3ramar =9 ®el W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 el @l
AaIgdd U foram S |

e T & SWa Wendt v MRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
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£
o
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|
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